BFRER

BEBSETEEMRE X%  (2019.6~) 2024.103R7E
MRl 2138 | 34 BE | 0-AS | BT | ~7 | BMS | #&4F
15 552.3 |75.8 |2.4 |9.4 |10.7

X2 ERE |[#EL | 4786 |67.0 | 1.9 | 87 12 A-5
EE8 | FEERR [ZBA | 4611 | 670 |19 | 7.6 12 A-5
£E8 =8 % [EEE | 580.5 |104.0] 2.0 | 8.8 12 A-5
=8 | Z@A [FXhs 543.1 [84.0 [ 1.6 | 8.5 12 A-5
K8 | =@ [EHE | b46.5 |100.0 | 1.7 | 9.4 12 A-5
E£E8 KBS (&K | 606.6 |85.0 | 2.7 | 8.4 12 A-5
BB |0 (BB | 621.2 |186.0 | 2.7 | 9.7 12 A-5
E8 | ZRBA [BAX | 627.0 |107.0] 2.9 | 8.8 12 A-5
=8 |EoFEEk [R5 | 627.0 [120.0 ] 1.8 |11.0 | 12 A-5
=8 |ZEH [BAK | 488.3 |85.0 | 2.7 |8.1 12 A-5
=B BIX |ZBA 580.5 |[66.0 [ 3.5 | 8.7 12 A-5
=8 | BEF | =REA | 5223 83 | 23 | 8.2 12 A-5
=B | ZBA| BEF | 5499 71 1.8 | 8.3 12 A-5
=8 | REBA| FiXBs | 5286 83 | 26 | 7.7 12 A-5
E8 | FRABEL | BRA | 544.6 83 | 1.7 | 8.7 12 A-5
=B |E=RLE | 2BA 575.1 86| 2.5 85 12 A-5
=8 |RBA (&% 564.5( 100 2| 9.3 12 A-5
=B |BEL [FE 655.2 80| 3.6 9.6] 12 A-5
=B |FEE | RBA 587.7 67| 28| 84| 12 A-5
=B |BEE |BEF 621.7 76| 2.6 83| 12 A-5
=B |FEE | RBA 634.8 97| 19| 9.3| 12 A-5
=B |BEFE [8AX 497.5 8ol 1.4 75| 12 A-5
=8 |BEX |RZBA 585.8 65 2| 95 12 A-5
=B |BEX |2BA 561.0 67| 2.6 85| 12 A-5
=8 |ZED | 2RE 550.4 81 32| 9.4 12 A-5
=B |BEFE |8AIX 598.4 78] 27| 8.7 12 A-5
=8 |RBA (&% 489.3 85| 15| 7.8 12 A-5
=8 KRR (&= 639.6] 110 15| 9.4 12 A-5
=8 |BEF (&= 600.8 84l 2.7 9.1 12 A-5
=B |REBA |BEF 499.5 68| 2.3 8.2 12 A-5
=8 |BRX [LETD8 580.5 791 23] 9.8 12 A-5
=8 |EEk |BEF 566.3 941 1.3 98| 12 A-5
£ |REBA BRI 562.0 98 2| 89| 12 A-5
=B KBS |BEEK 475.2 84l 18| 82| 12 A-5
£B |FECHE (B 566.0 72| 2.4 95| 12 A-5
=8 |REL [2BA 51251 122 26| 9.1 12 A-5
£ |REBA BRI 611.5 69| 1.9 8.7 12 A-5
=B |BAX |BEF 673.6 86 3] 9.8 12 A-5
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=B KBS BRI 4217.2 60| 1.4 7.8 12 A-5
£ | REBA |[FXE 572.2 93 2.7 9.8 12 A-5
=8 |[BEaEHEAK 581.9 89 2.8 10.7] 12 A-5
=8 | ZEK |BEF 515 57| 25| 8.8 12 A-5
=8 |E8% (86K 534.3 69| 23| 7.9 12 A-5
=8 | ZEK |RBA 553.8 741 2.1 9.6 12 A-5
=B =i | TRk 554.8 69| 2.5 9| 12 A-5
=B =L | 2BA 564 90 31 9.7 12 A-5
=8 EE (=i 541.6 88| 2.7 9.4 12 A-5
£ |REBA |BEF 558.1 80 2 9 12 A-5
=8 |BEKS|RRA 558.1 67| 29| 9.6 12 A-5
£ |REBA |BEF 524.2 67| 2.4 8.6 12 A-5
=8 | RBA [T 484.4 78] 29| 8.7 12 A-5
£ |REBA BRI 615.4 86 1.9 9.2 12 A-5
=B KBS |RBA 512.5 791 2.2 9| 12 A-5
=8 |RBA (&% 500 76| 1.9 9.1 12 A-5
=8 |BAX |BE8D 563.5 74 26| 9.7 12 A-5
=B |REBA |BEF 599.4 83| 3.3] 10.8] 12 A-5
=8 |ERE |ZBA 535.3 64| 23| 82| 12 A-5
=8 |FRKEE |&%=E 493.1 76| 15| 85| 12 A-5
=8 |BE]L [ZEBA 579.5 83| 17| 82| 12 A-5
=8 |EFE |2BA 546 103| 1.3] 8.8 12 A-5
=8 |EAK |BRIX 533.4 73] 19 9.3 12 A-5
=8 |EEH [BEX 530.4] 110 1.8 9 12 A-5
=8 =it [ZBA 529.5 60| 2.3 84 11 A-5
=8 |LZRBA [BEK 592.5 771 32| 84 11 A-5
=8 AR (&% 475.2 68| 1.3| 8.2 11 A-5
=8 =R |FiXE 511.6 92| 1.7 84| 11 A-5
=8 |BEX |RZBA 571.7 78] 3.4 9.6 11 A-5
=8 =i [2EBA 525.6 711 28| 84| 11 A-5
=8 |BAX 685.0 78 3] 93] 11 A-5
=8 |LZRA [BEK 456.3 65| 22| 7.6] 11 A-5
=8 |BEE |BRF 595.9 791 26| 84| 11 A-5
=8 |Fic [mEE 532.9 76 2.4 87| 11 A-5
=8 BRI | FRps 539.2 741 28 8.7 11 A-5
=8 |ZRA (BEF 549.8 75 36| 87| 11 A-5
=8 |EXBER |FE5ER 693.5 78] 2.4 9.8 11 A-5
=8 | Z@A |[FXkE 564.5 9 171 87| 11 A-5
=8 | EEK [FXE 572.7 86 1.6 9.3] 11 A-5
=8 |BEL [FXB 557.7 60 2.1 84| 11 A-5
=8 |BEEFE [2T=E 4422 63| 1.4 8.2 11 A-5
=8 =i [2BA 614.8 700 26| 88| 11 A-5
=B [FRKBER |FE 5 ER 550.4 57 3.9 9.3 11 A-5
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=B |FIXE |BEF 589.7 70l 3.2 8.7 11 A-5
=8 |EXEE [ZBA 612.4 72| 3.6 10] 11 A-5
=8 [FRKREE [2EA 523.2 80 2| 83| 11 A-5
=8 =i [BETE 587.7 69| 2.8 9| 10 A-5
=8 [FRKREE [Z2EBA 451.9 791 1.6 7.3 10 A-5
=8 |BEX |RBA 521.8 791 2.6 85| 10 A-5
=8 |BERF (=T 555.7 67| 3.1 8.4 10 A-5
=8 |BEX |RBA 524.2 63 2l 7.8 10 A-5
£B |BAX |[Zf®165¢ 565.0 83| 2.7[ 10.2| 10 A-5
=8 |BAX |BEF 532.4 65| 1.8 8.2 10 A-5
=8 [BAX |[RBA 613.4 571 3.8 8.6 10 B-5
=8 | EBT |2 E 583.0 81| 2.2 8.9 10 A-5
=8 |REL [ZEA 590.2 63| 22| 9.6] 10 A-5
=8 |BEX |[&%F 512.1 69| 2.3 8.7 10 A-5
=8 [BEAX |[RBA 640.1 65| 3.4 8.7 10 A-5
£=B |FEKES |BAX 483.0 66| 32| 7.4 10 A-5
=8 |EEE (BeE 452.9 65| 2.1 8.3 10 A-5
=B |BRX [ 611.5 76| 2.5 9 9 A-5
=8 |BRIX |[FXkE 563.5 751 3.4 83| 9 A-5
=B |&F |[FEE 550.8 57 41 76| 9 B-5
=8 |BRX |[HeE 488.3 65 2.2 6.8 9 A-5
=8 |BEAX |ZReA 544.6 60[ 3.1 9 9 A-5
=8 |BRX |[FEkE 619.3 791 3.3 9.6 9 A-5
=8 |ERR |BEAKX 517.8 67| 28| 7.6 9 A-5
=8 BRX |ZBA 535.3 700 151 770 9 A-5
=8 |BRX |[FEk 584.8 841 29| 9.2 9 A-5
=B |BEl [&F 494.1 58 2| 83| 9 A-5
=8 |BETF [Tk 571.7 62| 28| 9.2 8 A-5
=8 | RBA |[FXE 503.4 61 2.4 6.8 8 A-5
=8 |BAK |[2BA 589.7 64 3] 88 8 A-5
=8 |BRIX |[FEkE 619.0 70 2.6/ 9.2 8 A-5
=8 |BEKX |[2BA 505.7 62| 1.7 7.4 8 A-5
=8 |BAX |2RE 580.5 67| 24| 7.4 8 A-5
=8 |BEX |[&F 585.8 721 22| 83| 8 A-5
=8 |BAKX [&2F 517.4 700 24| 770 8 A-5
=8 |ZRA (BEF 517.9 66| 23| 76| 7 A-5
£ |REBA BRI 583.3 64| 35| 7.8 7 A-4
=8 &% |FxB 497.5 72 17| 73] 7 A-4
=B |BEE (B 508.7 60| 23| 82 7 A-4
=8 |BEE Tk 539.7 63 2.1 7.8 7 A-4
=8 |BETE |RBA 399.0 54 18| 6.7 7 A-4
=8 | Z@A |[FXE 485.4 57| 13| 74| 6 A-4
=8 |BRIX [Tk 568.4 571 2.6/ 84| 6 A-4
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